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INTRODUCTION

This document includes six problems with sample data sets for use in the Quick-2
program. These problems are intended to reinforce the information found in the Quick-2
online tutorial and to demonstrate some of the program functionality that was not
discussed in that online resource.

Screen captures illustrating the results for each sample problem can be found in the
"Solutions™ section at the end of this document. After completing each sample problem,
you can verify your results with the answers in the "Solutions” section. Look for the
references to the solutions throughout the document.
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Sample Problem 1: Normal Depth for a Trapezoidal Cross Section

This sample problem outlines the steps for finding the depth of flow in a trapezoidal
channel. To start this sample problem, select "File" from the pull-down menu bar and
click on "New". Create a new file in the directory of your choice and click the "Open"
button, followed by the "OK" button to open your new file.

Select "Normal Depth" from the "Method" pull-down menu bar and click on
"Trapezoidal” on the fly-out menu. Type "1" as the ID of your Cross Section and
complete the calculation with the input information included below.

Manning's n = 0.035 <TAB> or <ENTER>

Slope = 0.005 <TAB> or <ENTER>

LSide Slope (H:V) =2 <TAB> or <ENTER>

RSide Slope (H:V) =3 <TAB> or <ENTER>

Bottom Width (ft) =10 <TAB>or <ENTER>

Discharge (cfs) = 300 <TAB> or <ENTER>

Click the "Begin Calculation™ button and scan the newly calculated data in the 'Output
Data' column.

NooohkownE

Compare your results with those in the "'Solutions section (Problem 1, Solution 1).

You can view the graphic plots by selecting "View" from the menu bar and following the
steps outlined below.

1. Click on "Rating Curve" to view a Rating Curve plot in a new window
(""Solutions™: Problem 1, Solution 2).

2. Click on the "Plot Now!" Button to view a Cross Section plot
(""Solutions™: Problem 1, Solution 3).

3. To Print, click the "Print!" button.

4. Close the graph by closing the window.

You can view the output data report files by selecting "View" from the menu bar and
following the steps outlined below.

1. Click on "Summary Output”. The output is shown in a separate file, which can be
viewed using the Windows Write program. You can modify the data and save the file
under a new name and directory. Modifying this file will not affect your main Quick-2
file, which contains the source data for these separate output files
(*"Solutions™: Problem 1, Solution 4).
Close the output file by closing the window.
3. Click on "Detailed Input/Output” and view the results
(""Solutions™: Problem 1, Solution 5).
4. Close the output file by closing the window.
Click on "Rating Curve Data" and view the results
(*"Solutions™: Problem 1, Solution 6).
6. Close the output file by closing the window.

N

o
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Sample Problem 2: Normal Depth for an Irreqular Cross Section

This sample problem outlines the steps for finding the depth of flow in an irregular cross
section. You can start this sample problem from the file created in Sample Problem 1, or
you can create a new file for this example. Once you have made your choice, select
"Normal Depth™ from the "Method" pull-down menu bar and click on "Irregular Cross
Section" on the fly-out menu. Type "1.1" as the ID of your Cross Section and complete
the calculation with the input information included below.

1. Enter the ground points using the data below:

Stat Elev.

362 <Enter> 505.0 <Enter>
425 <Enter> 499.1 <Enter>
509 <Enter> 498.0 <Enter>
512 <Enter> 496.9 <Enter>
602 <Enter> 496.9 <Enter>
605 <Enter> 498.2 <Enter>
732 <Enter> 500.1 <Enter>
1020 <Enter> 504.7 <Enter>

2. When you are finished entering the ground point data and are sure they are correct,
press the "'Save Points' button.

3. EG Slope =0.0029 ft/ft <Enter>
4. Channel Bank Stations

Left 509 <Enter>

Right 605 <Enter>

5. Manning's n values

Left 0.065 <Enter>
Channel 0.040 <Enter>
Right 0.060 <Enter>

6. Discharge = 3000 cfs <Enter>
7. Click the "Compute™ button (**Solutions™: Problem 2, Solution 1).

8. Click on "File", then click on "Close/Save" to save and close your work.
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Sample Problem 3: Channel Capacity for a Rectangular Cross Section

This sample problem outlines the steps for finding the channel capacity for a rectangular
cross section. To start this sample problem, select "File" from the pull-down menu bar
and click on "New". Create a new file in the directory of your choice and click the
"Open" button, followed by the "OK" button to open your new file.

Select "Channel Capacity" on the "Method" pull-down menu bar, then click on
"Rectangular” from the fly-out menu. Type "1" as the ID of your Cross Section and
complete the calculation with the input information included below.

1. Manning's n =0.035 <Enter>
2. Slope (ft/ft) =0.01 <Enter>
3. Bottom Width (ft) =10 <Enter>
4. Depth (ft) =5 <Enter>
5. Click the "Begin Calculation™ button and scan the newly calculated data in the

'‘Output Data' column.
Compare your results with those in the "'Solutions section (Problem 3, Solution 1).

Once you are finished viewing the output on the screen, you can view the different graph
and report options that are available by Clicking on "View" from the main menu bar.
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Sample Problem 4: Channel Capacity for a Triangular Cross Section

This sample problem outlines the steps for finding the channel capacity for a triangular
cross section. To start this sample problem, select "File" from the pull-down menu bar
and click on "New". Create a new file in the directory of your choice and click the
"Open" button, followed by the "OK" button to open your new file.

Select "Channel Capacity" from the "Method" pull-down menu bar and select
"Triangular"” from the fly-out menu. Type "12.1" as the ID of your Cross Section and
complete the calculation with the input information included below.

Manning's n = 0.015 <Enter>
Slope (ft/ft) = 0.02 <Enter>
LSide Slope (H:V) =5 <Enter>
RSide Slope (H:V) =3 <Enter>
Depth (ft) =3 <Enter>
Press the "Compute" button (**'Solutions™: Problem 4, Solution 1).

ogakrwdE

Notice the warning message (**Solutions': Problem 4, Solution 2). FEMA does not
accept supercritical depth elevations for use in determining Base Flood Elevations (unless
the channel has been specifically designed to operate under supercritical flow conditions).
The critical depth elevation should be used instead

(""Solutions™: Problem 4, Solution 3).

Once you are finished viewing the output on the screen, you can look at the different
graph and report options that are available by clicking on "View" from the main menu
bar.
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Sample Problem 5: Channel Capacity for a Circular Cross Section

This sample problem outlines the steps for finding the channel capacity for a circular
cross section. You can start this sample problem from the file created in Sample Problem
4, or you can create a new file for this example. Once you have made your choice, select
"Channel Capacity" from the "Method" pull-down menu bar and select "Circular”
from the fly-out menu. Type "12.2" as the ID of your Cross Section and complete the
calculation with the input information included below.

1. Manning's n =0.013 <Enter>
2. Slope (ft/ft) = 0.005 <Enter>
3. Diameter (in) =36 <Enter>
4. Depth (ft) =3 <Enter>
5.

Press the "Begin Calculation™ button and scan the newly computed data in the
'‘Output Data' column (**'Solutions': Problem 5, Solution 1).

You can view the graphic plots by selecting "View" from the menu bar and following the
steps outlined below.

1. Click on "View" from the menu bar.

2. Click on "Rating Curve" to view the Rating Curve plot in a new window
(*"Solutions™: Problem 5, Solution 2).

3. Click on the "Plot Now!" button to view the Cross Section plot, which is just a circle
in this case (*'Solutions': Problem 5, Solution 3).

Notice that the rating curve "tails back in" to the left. This happens because maximum
flow in a pipe actually occurs at approximately 95% full flow. As the pipe flows above
95%, the increase in the friction loss in the pipe actually reduces the amount of discharge
it can carry.
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Sample Problem 6: Step-Backwater for Irregular Cross Sections

This sample problem outlines the steps for completing a step backwater calculation for
irregular cross sections. To start this sample problem, select "File" from the pull-down
menu bar and click on "New". Create a new file in the directory of your choice and click
the "Open™ button, followed by the "OK" button to open your new file.

Select the "Method" pull-down menu bar, then click on "Step-Backwater™ from the fly-
out menu.

CROSS SECTION #1

Type "1" as the ID of your Cross Section and complete the calculation with the input
information included below.

1. Enter the ground points using the data below:

Stat Elev

362 <Enter> 505.0 <Enter>
425 <Enter> 499.1 <Enter>
509 <Enter> 498.0 <Enter>
512 <Enter> 496.9 <Enter>
602 <Enter> 496.9 <Enter>
605 <Enter> 498.2 <Enter>
732 <Enter> 500.1 <Enter>
1020 <Enter> 504.7 <Enter>

2. When you are finished entering the ground point data and are sure they are correct,
press the "Save Points" button.

3. A dialog box pops up giving you information about how to begin your initial
calculation. Once you click "OK" the cursor will be in the 'WS Elev' text box. For
this Step-Backwater analysis, we will begin the initial calculation using an EG
(Energy Grade) slope, which approximates the downstream channel slope
(""Solutions™: Problem 6, Solution 1).

4. EG Slope =0.0029 ft/ft <Enter>

5. Channel Bank Stations
Left 509 <Enter>
Right 605 <Enter>

6. Manning's n values
Left 0.065 <Enter>
Channel 0.040 <Enter>
Right 0.060 <Enter>



Quick-2 Sample Problems Documentation - Samples Page 8 of 27

7. Discharge =3000cfs  <Enter>

8. Click the "Compute™ button (**Solutions™: Problem 6, Solution 2).

CROSS SECTION # 2

To add another cross section to this Step-Backwater analysis, click the "New X-Sec™
button and repeat the above procedure using the data below.

(Note that for this next cross section, when you Save your ground points, the cursor will
be at the Channel Bank Stations text box, since you do not have to input starting water
surface elevation or slope data after the first cross section).

1. Type "2" as the ID of your Cross Section, and press <Enter>.
2. Enter the ground points using the data below:

Stat Elev

1 <Enter> 510.0 <Enter>
150 <Enter> 504.8 <Enter>
233 <Enter> 502.2 <Enter>
236 <Enter> 500.9 <Enter>
331 <Enter> 500.9 <Enter>
334 <Enter> 501.8 <Enter>
402 <Enter> 505.5 <Enter>
591 <Enter> 510.1 <Enter>

3. When you are finished entering the ground point data and are sure they are correct,
press the "Save Points"” button. Note that the cursor is now inside the Left Channel
Bank Station text box. This is because, after the first cross section, you do not have
to put in a starting water surface elevation or slope.

4. Channel Bank Stations
Left 233 <Enter>
Right 334 <Enter>

5. Manning's n values
Left 0.055 <Enter>
Channel 0.040 <Enter>
Right 0.060 <Enter>
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6. Reach Lengths

Left

Channel

Right

7. Discharge

450 <Enter>
450 <Enter>
450 <Enter>
3000 cfs <Enter>
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8. Click the "Compute™ button and scan the newly computed data. (Note that there is a
critical depth message in the message box. This indicates that the program could not
arrive at an energy balance, and so had to compute the critical depth at this section)
(""Sections™: Problem 6, Solution 3).

CROSS SECTION #3

To add another cross section to this Step-Backwater analysis, click the "New X-Sec™

button and repeat the above procedure using the data below.
1. Type "3" as the ID of your Cross Section, and press <Enter>.

2. Enter the ground points using the data below:

Stat
1
433
600
614
701
725
866
1240

<Enter>
<Enter>
<Enter>
<Enter>
<Enter>
<Enter>
<Enter>
<Enter>

Elev
512.0
510.1
506.3
504.9
504.8
506.5
511.1
512.1

<Enter>
<Enter>
<Enter>
<Enter>
<Enter>
<Enter>
<Enter>
<Enter>

3. When you are finished entering the ground point data and are sure they are correct,
press the "Save Points™ button.

4. Channel Bank Stations
<Enter>
<Enter>

Left

600
Right 725

5. Manning's n values
0.065 <Enter>

Left

Channel

Right

0.040 <Enter>

0.060 <Enter>
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6. Reach Lengths

Left 490 <Enter>
Channel 490 <Enter>
Right 490 <Enter>

7. Discharge = 3000 cfs <Enter>

8. Click the "Compute™ button and scan the newly computed data
(""Solutions™: Problem 6, Solution 4).

Now run this Quick-2 computation using the HEC-2 program. To do this, first select
"File" from the pull-down menu bar and click on "Save / Run As HEC-2 File". You
will be asked for a new name for the HEC-2 file input file. To keep it simple, just keep
the same file name that you are using but change the extension to ”.dat” . This file is now
in HEC-2 file format. Click on "Save" then "OK" to save the file.

Select "HEC-2 Output™ in the "View" pull-down menu bar to run the HEC-2 program in
a DOS window (*'Solutions™: Problem 6, Solution 5). When the calculation is
complete, you can close that window. The HEC-2 results will appear as an output file
(hec2.out) in the Write program. You may view the file (**Solutions': Problem 6,
Solution 6) and save it under a different directory or name just like any other text file.
Note that to print all of the data so that they fit the width of the page, you may have to
select all of the output and change the font size to "8" and the page orientation to
"landscape”.

Once you are finished viewing the HEC-2 output file, close the Write program, click on
"File", and then "Exit" to close the program.
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SOLUTIONS

Problem 1: Normal Depth for a Trapezoidal Cross Section

Solution 1:

Inegular Channel - [Normal Depth Method]

Page 11 of 27

File Method xESection View Help

Begin Calculation ‘

FEE YR
e MEN elwidde ke
Cross Section Trapezoidal Channel
|1 j Input Data Qutput Data
Manning's n ||]_|]35 j Depth (ft) | L2
. 2.45
Slope (ftft) ||]_|]|]5 Crit Depth (ft)
LSide Slope (HV) [2 Crit Slope (Yf) | LSl
- . - h.04
RSide Slope (H:Y) |3 Yelocity (ftfs) |
. - 264
Bottom Width (ft) |1 0 Top Width (ft) |
Discharge {cfs) |3|]|] Area (sq fi) | <l
Depth (ff | Froude # | 59
Flow Type | Sub-Critical

Problem 1: Normal Depth for a Trapezoidal Cross Section
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Solution 2:

Rating Curve - Crozs Section: 1

Problem 1: Normal Depth for a Trapezoidal Cross Section
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Solution 3:

Plot - Crosz Section: 1

Problem 1: Normal Depth for a Trapezoidal Cross Section
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Solution 4:

E summary.qk? - WordPad M=l E
File Edit “iew |nzert Format Help

DB Sl s =] B

|SecI‘-Iu.m CW3EL ELWin Discharge ChanWel TopWidth Strmlen ZE3Type
1 3.27 o 300 5.04 26.4 a WS
For Help, press F1 MUM 2

Problem 1: Normal Depth for a Trapezoidal Cross Section
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Solution 5:

E summaryd.qk? - WordPad M=l E
File Edit “iew |nzert Format Help

DB Sl s =] B

Cross 3ection: 1 Type: ¥ Trape=zoidal Channel
INFUT WARIALELES OUTPUT WARIAELES
I i ! Depth (ft) .27
| 1] ". n = .035 / |1 Crit Depth [(ft) 2.45
Depth | il i | Discharge (cfa) 300.
| Z. ! i 3. Velocity [(ftis) 5.04
1l Y £ Top Width (£t 26.4
Base Widch (ft) = 10. Froude MNo. .59
Slope [(ft/ft) = .00s Flow Type Sub-Critiecal
For Help, press F1 MUM 2

Problem 1: Normal Depth for a Trapezoidal Cross Section
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Solution 6:

Page 16 of 27

Fil= Edit “iew Inzet Fomat Help
D= Sl s &5 2] | =
Cross Jection: 1 Energy Slope: 0.005 .
3tat Elewv 3tat Elewv 3tat Elewv 3tat Elewv
a .27 6.54 a 16.54 a 26.35 .27
Left Channel Right
I Values u} 0.035 u}
Bank Ztat O Z6.4
CW3EL Q (CF3) Area (3g Fr)
a a a
0.16 1 1.7
0.33 5 3.5
0.49 10 5.5
0.65 16 7.6
0.5z 23 9.9
0.95 32 1z2.2
1.15 4z 14.7
1.31 53 17.4
1.47 65 0.2
1.64 79 23.1
1.8 a5 Z6.1
1.94 111 9.3
2.13 1z9 2.6
Z.29 149 6.1
Z2.46 170 9.6
Z2.62 192 43 .4
Z2.758 216 47,2
Z.85 24z 51.Z2 .
.11 269 55.3
.27 Z95 59.6
|
For Help, press F1 [ IWA

Problem 1: Normal Depth for a Trapezoidal Cross Section
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Problem 2: Normal Depth for an Irreqgular Cross Section

Solution 1:

Hui-::k—2 V2.0 File: C:\Program Files\Quick2\5amplel - [Hormal Depth Method - lregular Cha... [lj[=] E3

File Method xESection View Help

A=

Cross Section |-| 1 -

vimlwl=dy |Ci=le

| INPUT

Station Elevation el | izldiz |

Ground Foints | 8 | | Save Points | Starting

WS Elev

Station|Eley  |Station]Elev  [Station]Elexy  [Station]Eley  |Station|Eley - or
362 505 425 4991 509 438 512 4969 602 4369 Drepth [Ft)
EG Slope
. P& |0.0029

605 4982 732 5001 1020 5047

LEFT CHAMHMEL RIGHT Contr. Exp.
- - (1] 0.3
Channel Bank 503 bl 605 - ;?:ih[:::;h[t::;r]lls __
Manning's n |l].l]BE ﬂ |ﬂ-ﬂ4ﬂ j |l]_l]El] j

Compute BB v seciion |

| OUTPUT

Ciit Depth ] 399,92
WS Elev 501.03 Depth [ft]) m Top Width [ft) 385 Flow Type [Sub-Critical
EGElev [ 50132 Ch Vel (f/s] 51 K Ratio 1. Froude # B

Problem 2: Normal Depth for an Irregular Cross Section
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Problem 3: Channel Capacity for a Rectangular Cross Section

Solution 1:

Page 18 of 27

Nurmal Depth Analysiz - [Channel Capacity Method]

File Method xESection View Help

FEE YR
SO = I i | ] = = e [ 2
Cross Section Rectangular Channel
|1 j Input Data Qutput Data
Manning's n ||]_|]35 j Discharge (cfs) | 2
- 362
Slope (ftft) ||]_|]1 Crit Depth (ft)
LSide Slope (HV) [o Crit Slope (Yf) | ALl I
. . : 7.82
RSide Slope (H:V) ||] Yelocity (ftfs) |
Bottom Width (ft) |1 0 Top Width (ft) | U
. Ll
Discharge {cfs) | Area (sq fi) |
B2
Depth (ft) |5 Froude # |
Sub-Critical
Begin Calculation | | "New X-Sec Flow Type |

Problem 3: Channel Capacity for a Rectangular Cross Section
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Problem 4: Channel Capacity for a Trianqular Cross Section

Solution 1:

Page 19 of 27

lluit:k-Z W20 File: - [Channel Capacity Method]

Fil=  Method xSection Yiew Help

el BEN Helelds [H:=
Cross Section Triangular Channel
I1 2.1 j Input  Data Output Data
Manning" . 647.
anning's n ||]_|]1 K j Discharge (cfs)
Slope (ft/ft) ||]_|]2 Crit Depth (ft)
LSide Slope (H:V) |5 Crit Slope (ft/fft)
. . : 17.97
RSide Slope (H:¥) |3 Yelocity (ftfs)
Bottom Width (ft) ||] Top Width (ff) e
. 36.
Discharge (cfs) I Area (sq ft)
Depth () B Froude # £y
Super-Critical
Begin Calculation New X-Sec Flow Type P

Problem 4: Channel Capacity for a Triangular Cross Section
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Solution 2:

Super-Critical Warning [ <]

& FEMA does nat narmally accept Super-Critical Elevations to establish Base Flood Elevations. Use the Critizal Depth Elevation instead.

Solution 3:

llui-::k-2 ¥2.0 File: - [Channel Capacity Method]

File  Method =Section “iew Help

IR §
ke 5 [ vwlwly |l
Cross Section Triangular Channel
|1 2.1 j Input Data Output Data
Manning' . | 647.
anning's n ||]_|]15 j Discharge {cfs)
. 4.38
Slope (ftfit) ||]_|]2 Crit Depth (ft) |
LSide Slope (HV) [5 Crit Slope (/) | L]
RSide Slope (H:V) [3 Velocity (ffs) | Vet
Bottom Width ()  [o Top Width (1) | B
. 36.
Discharge (cfs) | Area (sq ft) |
Depth (f) 5 Froude # | =2
................................................. - Super-Critical
e ‘ | New X-Sec | Flow Type | i

Problem 4: Channel Capacity for a Triangular Cross Section
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Problem 5: Channel Capacity for a Circular Cross Section

Solution 1:

Slep—Backwater Analysis - [Channel Capacity Method]

Page 21 of 27

File Method xESection View Help
FEE YR
kel IS L e el 2
Cross Section Circular Channel
|1 2.2 j Input Data Qutput Data
Manning: : | 47 2
anning's n ||]_|]13 j Discharge (cfs)
- 223
Slope (ftft) ||]_|]|]5 Crit Depth (ft)
LSide Slope (HV) [o Crit Slope (Yf) | ALLET I
: _ : 6.67
RSide Slope (H:Y) ||] Yelocity (ftfs)
Diameter (in) |35 Top Width (ft) | =
Discharge (cfs) | Area (sq ft) | £
i
Depth (ft) |3 Froude # |
Sub-Critical
Begin Calculation | | "New X-Sec Flow Type |

Problem 5: Channel Capacity for a Circular Cross Section
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Solution 2:

Rating Curve - Cross Section: 12.2

Problem 5: Channel Capacity for a Circular Cross Section
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Solution 3:

Plot - Crosz Section: 122

Problem 5: Channel Capacity for a Circular Cross Section
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Problem 6: Step-Backwater for Irreqular Cross Sections

Solution 1:

Starting Condition for Step-Backwater Computation

& o may gtart pour computations by entering a known Water Suiface Elewation fwS Eley] or Depth; or by the Mormal Depth tMethod, by
entering an EG Slope.

Solution 2;

Nurmal Depth Analpsziz - [Step-Backwater Method]
File  Method =Section “iew Help

EIE® | (G
ke ls MEN deiwi=dy [CkE
Crogs Section |1 - | INPUT
Station Elevation Insert | Delete |
Ground Points | 8 | | Save Points | Starting . . .
W5 Elew

StatiunIEIev IStatiunIEIev IStatiunlEIev IStatiunlEIev ISlalionlEIev = or

362 505 425 499.1 509 498 512 4969 602 4969 Drepth [fH)

605 4982 F32 5001 1020 5047

EG Slope [0.0029

LEFT CHANNEL RIGHT Contr. Exp.
509 - G505 - Loss Coefficients |01 0.3

Channel Bank

Discharge [efs] [3000
0055 =] [0.040 =] [ooe0 =] | o [efs] 3000

Manning's n

Reach Len [ft] | | | Compute

| oUTPUT

Crit Depth [Ft) 1
WS Elev 501.03 Depth [ft] 413 Top Width [ft) 385 Flow Type [Sub-Critical
EG Elev R01.32 Ch Vel [f/z]) r1 K Rahto 1. Froude # 5

Problem 6: Step-Backwater for Irregular Cross Sections
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Solution 3:

Save File - [Step-Backwater Method]
File Method xESection View Help

I o~
S = | = vmlwld |Ci]=
Cross Section |2 - INPUT
| Station Elevation el | izldiz | |
Ground Foints | 8 | | Save Points | Previous X-Sec

W5 Eley  |201-03

Station|Eley  |Station]Elev  [Station]Elexy  [Station]Eley  |Station|Eley - or 413
1 510 150 504.8 233 b027? 236 5009 331 5009 Depth (i) 17
EG Slope
. PE |.00290

334 5018 402 505.5 591 5101

LEFT CHAMHMEL RIGHT Contr. Exp.
- - (1] 0.3
Channel Bank 233 bl 334 - ;?:ih[:::;h[t::;r]lls __
Manning's n |l].l]55 ﬂ |ﬂ-ﬂ4ﬂ j |l]_l]El] j

Reach Len(ft]  |*90 450 |450 Compute
| OUTPUT NO ENERGY BEALANCE . COMPUTING
Crit Depth [ft) ] CRITICAL DEFTH

W5 Elev 503.96 Depth [ft] 3.06 Top Width [ft] 197 Flow Type Critical
EG Eley 051 Ch Vel [ffz] 893 K Ratio 47 Froude # 1.06

Problem 6: Step-Backwater for Irregular Cross Sections
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Solution 4:

Slep—Backwater Analysis - [Step-Backwater Method]
File Method xESection View Help

o] o=
ke e EE vmlwld |Ci]=
Cross Section |3 - | INPUT
Station Elevation el | izldiz |

Ground Foints | 8 | | Save Points | Previous X-Sec

_ _ _ _ i WS Eley | 203-96
Station|Eley  |Station]Elev  [Station]Elexy  [Station]Eley  |Station|Eley = or

1 512 433 5101 GO0 5063 614 5043 701 5048 Depth () |3-08

725 5065 866 5111 1240 5121

- EG Slope [ 01326

LEFT CHAMHMEL RIGHT Contr. Exp.
- - (1] 0.3
Channel Bank 600 bl 725 - ;?:ih[:::;h[t::;r]lls __
Manning's n |l].l]BE ﬂ |ﬂ-ﬂ4ﬂ j |l]_l]El] j

Reach Len(ft]  |*90 430 490 Compute
| OUTPUT _
Cit Depth (i) [ .
W5 Elev 508.54 Depth [fit] 374 Top Width [ft] 286 Flow Type [Sub-Critical

EG Eley R09.08 Ch Vel [ffz] 6.21 K Ratio 157 Froude # Fi

Problem 6: Step-Backwater for Irregular Cross Sections
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Solution 5:

C:z»Program Files“Quick2>»>cd c:»windows>system
C=SWINDOWE-EYETEM>*hec2 .exe IMPUT=hec2.dat OUT=hecZ.out TAPE?S=hec2._t?5

Starting profile number 1

CUSEL for cross section
CUSEL for cross section
CUSEL for cross section

Mormal program termination

CaSWINDOWSSSYSTEM>

Solution 6:
E hec2_ out - WordPad [ _ (O] <]
File Edit “iew |nzett Format Help
']
DR S s 0 =ao] &
l******************************************** rFY
* HEC-Z WATER SURFACE PROFILE:S *
* *
* Version 4. 6.2; May 1931 *
* -*
* PRUON DATE 1eMAT00 TIME ZZ2:BE: 29 *
ok o e o i e e e i e e i e el e e e ol i e ol e e e e i e e e e e i i e e o i e o i
X ¥ OMOOOOODOd JO00O0 pvorct
H X H H H
x X OH s
oD OO RO ® e oK
H X H H
X HOX bt H H
H W RO o PO
1
1EMAYTOO FE:EZ-Z9
w
1] b
For Help, press F1 e L

Problem 6: Step-Backwater for Irregular Cross Sections
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